& A AT e ] =

>
4
=\
2
cke
.
El

A8 AT
[/ st st stestesteste st st st st st st sk sk sk s s s s s s s s s ke ke ke ke ke sheskestestestestestestestestestestestestestesteste st ste st st st sk st st st st st sk sk sk skoskoskokokokokok
AHE R F TR, £ TP ARELACE,

FE R AR GAE, HESCHI®S 2 F ¥ T AR Sk $3F.

REE S 2 46 % T R AT AR 4T, F 7 ol

**********************************************************************/

RIET: B

L25%) [ s8]

Letd4= |2 3 2

(a) Determine all the eigenvalues of 4.
(b) If possible, find a basis for R™" consisting of eigenvectors of A.
(c) If successful in finding a basis, determine an invertible matrix O and a diagonal matrix D

such that "' 40=D.

[5347] 4 R RERI12C. G BREECH 1281117,
(] GEraes
(a) det(4—xI )= —(x=3)*(x=5)
eigenvalues £33, 3,5
(b) Tv3Veigenvector [0 1 0], [-1 0 11]% 5 eigenvector[1 2 1]
7 R oL k.

0 -1 1 30 0
¢ O0=|1 0 21|, b=/ 0 3 0
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Prove or disprove each of the following:

2.(25%) [RPRuaid]l - [ 88 Y]
Let (4, B) be a finite poset and BC A. If B has a lower bound then B has a greatest lower

bound.

(EEACREE] 45 F%“ "FiFalse.

3.(25%)  [RURgiraid] [~ Hiss Y]
Let f'be a function from 4 to Band 4, C A4, B CB.
If Bi=f(41) thenAlgfl(BO, where f(4))={f(x) | xed; } andfl(Bl)={xeA | f(x)eB; }

(537 (FREBEfi 7 A6 GRRRECHS T EIS),  (HST ] URLEEPOREE . 4 R

£ True.

4.(25%) [hZEfai] [ s8]
Let Vand V7’ be two vector spaces and let 7: =)’ be linear and one-to-one. If
{x1, X2, ..., Xa} is a linear independent subset of V, then {T(x1), T(x2), ..., T(xn) } is

linear independent.

[5347] 4 R RERI08E. % BliHs.CH8 LR 1 1b.
(i) True, PO
. aT(x) e T(xo)+ ... +enl(xq)=o,
HII T(cixiteaxat ... +epxn)=o, (CH7HZ L SYEEF)
=T(o)
E' lone-to-one A cix1texat ... tepxn=o.
[Iy=1#0 {x1, x2, .., Xap £b linear independent,
. c1=cr=...=c,=0. (CH67H-5.9)



